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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

13.

14.

SECTION - A

Draw a ray diagram to show reflection of an incident ray parallel to principal axis by
a convex Mmirror.

Name the functional group present in propanone, CH;COCHS,.

Name the disease caused in human beings due to a depletion of ozone layer in the
atmosphere.

Name any two non-biodegradable wastes.

A star appears on the horizon. What is the true position of the star ? Explain with the
help of a diagram.

What is the scattering of light ? Explain with the help of an example.

Identify the nature of the mirror and mention two characteristics of the image formed
when magnification (m) = + 6.

An environmentalist on visit to your school, suggested the use of three R’s to save the
environment. Explain what he meant by three R’s and how would you follow his advice.

The elements of the third period of the periodic table are given below:
Na Mg Al Si P S Cl Ar

(a) Which atom is bigger Na or Mg ? Why ?

(b) Identify the most (i) metallic and (ii) non-metallic element

This question refers to the elements of the periodic table with atomic numbers 3 to 18
(a) Which of them are noble gases ?

(b)  Which of them are halogens ?

(c)  Which of them are alkali metals ?

(d) What is the electronic configuration of an element with atomic number 10 ?

(a) What are decomposers ?
(b)  State in brief the role of decomposers in the environment.

“ Variation is beneficial to the species but not necessarily for the individual “. Justify
this statement.

(a) Out of the following plants which two plants are reproduced by vegetative
propagation ?
Jasmine, wheat, mustard, banana

(b) List any one advantage of practising this kind of propagation.

A convex lens forms a real image 4 times magnified at a distance of 60 cm from the
lens. Calculate the focal length and the power of the lens.
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15.

16.

17.

18.

19.

20.

21.

22.

23.

Mention two properties of image formed by a convex mirror.

Draw a ray diagram for the formation of an image, when the object is placed
beyond C in front of a concave mirror.

“Refractive index of glass is 1.5 “. What it means by this statement ?

Explain with the help of a diagram, why a pencil partly immersed in water appears
to be bent at the water surface.

Draw the structures for following compounds (i) ethanoic acid,
(ii) butanone, C, H5 CO CH,.

Conversion of ethanol to ethanoic acid is considered an oxidation reaction. Why?

Give a chemical test to distinguish between saturated and unsaturated
hydrocarbons.

Name the products formed when ethanol burns in air.

Why is the reaction between methane and chlorine considered a substitution
reaction ?

Explain the terms analogous and homologous organs with examples.

How does homologous organ explain the process of evolution ?

Explain how Mendel’s experiment shows that traits are inherited independently.

Explain in brief the process by which sex of a new born child is genetically determined
in human beings.

(a)
(b)

What is the difference between self pollination and cross pollination ?

What happens to the pollen which falls on a suitable stigma ? Explain.

A person cannot see the objects distinctly, when placed at a distance less than 50 cm.

(a)
(b)
(©)

(d)

Identify the defect of vision.
Give two reasons for this defect.

Calculate the power and nature of the lens he should be using to see clearly the
object placed at a distance of 25 cm from his eyes.

Draw the ray diagrams for the defective and the corrected eye.
OR

A person cannot see the objects distinctly, when placed beyond 2m.

(a)
(b)
(©)

(d)

Identify the eye defect.
Give two reasons for this defect.

Calculate the power and nature of the lens he should be using to see the distant
objects clearly.

Draw the ray diagrams for the defective and the corrected eye.
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24. Anorganic compound ‘A’ is widely used as a preservative in pickles and has a molecular
formula C,H,0,. This compound reacts with ethanol to form a sweet smelling
compound ‘B’.

(a) Identify the compound ‘A’
(b)  Write the chemical equation for its reaction with ethanol to form compound ‘B’.
(c) How can we get compound ‘A’ from ‘B" ?

(d) Name the process and write corresponding chemical equation.

(e)  Which gas is produced when compound ‘A’ reacts with washing soda ? Write
the chemical equation.

OR
(a) Write the structural formulae of the corresponding alcohol and the acid.
The formula of an ester is
CH,COOC,H;

(b) (i) Mention the experimental conditions involved in obtaining ethene from
ethanol.

(if) Write the chemical equation for the above reaction.

(c) Explain the cleansing action of soap.

25. Draw a neat diagram of the human male reproductive system and label the parts
performing the following function :

(a) Production of sperms

(b) Gland which provides fluid

(c) Provides low temperature for the formation of sperms

(d) Common passage for sperms and urine

Name a sexually transmitted disease and a method to avoid it.
OR

(a) State any two changes seen in boys at the time of puberty ?

(b) Define fertilization and implantation.

(c) State the role of ovary and fallopian tube in human body.
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26.

27.

28.

29.

SECTION-B

In the following diagram a method of determining focal length of a device ‘X’ is
shown.

Screen

d

\ 2N

from this diagram it may be concluded that the

(a) device ‘X’ is a plane mirror and distance ‘d’ is its focal length.
(b) device X" is a convex mirror and distance ‘d’ is its focal length.
(©)

(

d) device ‘X’ is a concave mirror and distance ‘d” is its radius of curvature.

device ‘X’ is a concave mirror and distance ‘d’ is its focal length.

A student obtained a blurred image of an object on a screen using a concave mirror. In
order to obtain a sharp image on the screen, he will have to shift

(a) screen towards mirror
(b) screen away from mirror
(©)

(

d) screen and mirror both towards the object.

screen towards or away from mirror

In an experiment, the image of a distant object formed by a concave mirror is obtained
on a screen. To determine the focal length of the mirror, you need to measure the
distance between the

(a) mirror and the screen
(b) mirror and the object
(©)

(

d) mirror and screen and also between the mirror and the object.

object and the screen

Two students carry out the experiment of tracing the path of a ray of light through a
rectangular glass slab with [7i=30°. The glass slab of student A is thicker than student
B. They will obtain [Jr and []e respectively as

(@) QOr=19°, ge=30° (b) Or=27°, ge=30°
() Qpr=32° ge=30° (d) gr=17%, ge=32°
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30.

31.

32.

33.

34.

A student has to perform an experiment on tracing the path of a ray of light passing
through a glass slab for three different angles of incidence. Four of his friends suggest
the following options to him

A: Draw incident rays corresponding to 30°, 45°, 60° as angle of incidence and fix
the two pins on the incident rays just 1 cm apart.

B:  Draw incident rays corresponding to 30°, 45°, 60° as angle of incidence and fix
the two pins on the incident rays just 8 cm apart

C: Draw incident rays corresponding to 20°, 50°, 70° as angle of incidence and fix
the two pins on the incident rays just 1 cm apart.

D: Draw incident rays corresponding to 20°, 50°, 70° as angle of incidence and fix
the two pins on the incident rays just 8 cm apart.

The best option that he should follow is the option
@ A (b) B (© C (d D

An iron nail was kept immersed in aluminium sulphate solution. After about an hour,
It was observed that :

(a) the colourless solution changes to light green.
(b) the solution becomes warm.

(c) grey metal is desposited on the iron nail.

(

d) the solution remains colourless and no deposition is observed on iron nail.

A student puts one big iron nail each in four test tubes containing solution of zinc
sulphate, aluminium sulphate, copper sulphate and iron sulphate. After some time
reddish brown coating was observed only on the surface of iron nail which was put in
the solution of :

(a) Zinc sulphate (b) Iron sulphate
(c) Copper sulphate (d) Aluminium sulphate

A zinc plate is dipped in copper sulphate solution. After some time it is observed that :

(a) the solution becomes colourless and reddish brown layer gets deposited on the
zinc plate

(b) no reaction takes place.
(c) the solution becomes green.

(d) the solution remains blue and a brown layer is formed on the zinc plate.

Ethanoic acid :

(a) turns red litmus blue.
(b) turns blue litmus red.
)

(

(d) produces CO, gas on reacting with sodium hydroxide.

produces bubbles of hydrogen on reacting with sodium hydrogen carbonate.
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35. A student on adding (i) Na metal, (ii) Na,CO; and (iii) NaHCO; solution in acetic acid
in test tubes A, B, C would observe that the gas evolved in the three test tubes respectively

are
(@) H, CO, CO, (b) CO,, H,, CO,
() CO, CO, H, (d) CO,, CO, H,

36. Which one out of the following set of diagrams correctly depicts reproduction in amoeba
and in yeast ?

B Y0 B E Y NGO

Budding in amoeba  Binary fission in yeast Binary fission in amoeba Budding in yeast
4
DB - 5
Budding in amoeba  Binary fission in yeast Binary fission in Budding in yeast
amoeba
@@ 1 (b) 2 (© 3 (d) 4

37. The two diagrams A and B given below, aim to show the sequence of events for the
binary fission in Amoeba and Budding in yeast

N

I II I v A% VI VIl

(A) ()
The correct sequence of events in the two diagrams respectively is
(@) (ILIOLIV) and (V, VI, VII)

(b) Vv, 1L 1L, I) and (VILVLV)

(c) (I, I, I, IV) and(VL,V, VII)

(d) (I, I II, IV) and (VL VII, V)

38. A student took x gram water in a beaker and dipped p gram of raisins in it. After
keeping raisins in water for about 2 hours he measured the mass of soaked raisins as q
grams. He also measured the mass of water lift in the beaker which was y gram. On the
basis of his observations the percentage of water absorbed by raisins should be

y—x y—*
%X 100 X 100
@ ®

1=p X 100 i-p X 100
d
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39. Two slides A and B were observed by four students under a compound microscope.
They noted down their identifications in the table given below.

(== O8&

A B
Student Slide A Slide B
I Binary fission in amoeba |Daughter cells of amoeba
II  |Budding in yeast Buds of yeast

Il |Binary fission in amoeba (Buds of yeast
IV [Budding in yeast Daughter cells of amoeba

Of the above mentioned identifications of slides A and B, the correct identification is
that of student

@ 1 (b) I (c) I d) IV

40. A student has to perform the experiment to determine the percentage of water ab-
sorbed by raisins .Below are given four steps of the experiment.

(1) soaked overnight (2) weigh dry raisins

(3) weigh soaked raisins (4) wiped soaked raisins
She/He must use the correct sequence of procedure as :

(@ 1,234 (b) 2,431

() 2143 (d 4213

41. Prachi soaked 2g of raisins in 20 mL of tap water in two beakers X and Y each. She
maintained beaker X at 25°C and beaker Y at 50°C. After about an hour she will
observe that the percentage of water absorbed by the raisins is

(a) samein Xand Y (b) more in X thanin'Y
() moreinY thanin X (d) exactly twice as much in Y as in X
-00o0-
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10.

11.

12.

HAT - A
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CH,COCH, ¥ Sufterd YehdicHes HHe =l T fafam |
IRAUSH | ST WA o &fId B W A i 8 aTelt SR 61 919 fafag |
forl 1 omora fieRtota sTafemi & 9 fafaw)

g ar fafas W gforier S €1 39 aR i el feufa e g ? T ot TRl § T8 it |

YhTST ST TehIUH 1 & 7 SCTEL0l i Herddl ¥ T8 HifST |

39 UV Y YRfa TR FEH GRS SEEH (m) = +6 ¥ 1 g9 gR1 5 wfafers & @
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ST T H Goa fean | wag Hifse fo @9 R & 30 ared 7 iR 119 37 e &1 e
ExsRcarderall

3o |ROTt o TEL S & d Ao foy T E
Na Mg Al Si P S Cl Ar
(a) Na @ Mg ¥ &9 9Est § 921 § 2R i ?
(b) TTH GG Afuek (i) efifeeren, den (ii) erenferen de TR

TE YA AT RN & 39 Tl | Halfed § FTent T S 3 9 18 T T
(a) TTH SIF Y q Spy 9§72

(b) TTH S TASH § 2

(d) 39 q@ A seraeH foam fafen et T S@n 10 21

(a)  STOHTSI AT & ?
(b) TATEREl H STUHTSIehi o fHeRT I G& H Seer@ HIfT |
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

(a) = ST T UIel H 9 A | S UKy § SR S hifdes gaEA g foha S © 2
(b) SHITIH Yaea st fafy &1 3T & § oy fafaw

HIE I o forddt fama &1 &8 9 60 cm T W =R AT TafHa axdafae fafend s g1 &9
i ThIRd U qAT &1 IEhferd whifSTT |

(a) A YO GRI o Wfaferst o < 0N 1 Seora i |

(b)  STedc TUUN R eItk foral SUuT 3 WA 3T oshdl s 9 R feera €, wfafers s
U <k faw foreor e wifew

(a) ‘'Rl T SIS 1.5 8" 30 HeF H 1 q00d § 2

(b) 3G it el § T8 i o st H 3Hifvres 9 | gall Ufaet Ste o 98 o gent udld
H A7 ?

(@) () Ul A (i) YA, CH COCH, 3t HT=HT Hifa |
(b) ‘‘ugHTe HT UAATEH T § YR SU=EA ATafHan A S ®' i 2

(a) EqE q1 SEGH BEGIREA H fa9eT % faw i wamtTes wea fafa)
(b) WIS % a1 H <& ¥ I ScTel o A fafam )
(c) HIT TN AN & ot B arent STfafpan o1 wfawends stfufspan s | i & 2

(a) HHSIA ST U1 GHEY ST 1 TIFTHIUN IR0 Higd hifsIT |

(b) THSTA 3171 & fashm st Ufhan ol fohd TR T8 & © ?

T TIE HIFC foh Hed & JarT I8 fhe TR T@id © T &0 Tod §9 9 J9d 2 © |

39 UHA1 1 H&Y | T8 ST 9 gR1 STafeh S8R W "el | fordt Tasia & fam
EARECEUAERIES GRS

(a) TIURETV AT IR AT H T SR B 2
(b) TIE FHITST T 3 WATHTI 1 1 Bl © S fohedt 3fera afefer W fiva €2
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24.

25.
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T <G Heh |
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(a) AR &% THY Shi H SR B Tt s o URad fafa |
(b) TTO= qem STRI9Ur skt gRwmn fafeT |
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30.
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32.

33.
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34. TUIHATEH 1A :

(a) e ferews 1 el T @ T
(b) et ferera 1 A = @ 2
() Wifead SRS FEMe I FTh TESSH & Jargel 3cdel T <l 2|
(d) Gifead TrgiREe ¥ AfafFan #% CO, 3 FId T
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(©) (I I, I, IV) @& (VLV, VII) (d) (L I, II, IV) &1 (VI, VII, V)
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38.

39.

40.

41.
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